ﬂé Finding Radicals on a Numberline Name:

Determine which letter on the numberline best representstheradical. Answers
iy 6 7 8 9 10 11 12
N “—o0o—+ o ol : o : N
” A B C D
2.
2) 4 5 6 7 8 9 10
N « —o0——+—o0—+—0— : o—t» 3
94 A B C D
4,
3) 0 1 2 3 4 5 6
N «o : e —o : : o—i»
33 A B C D >
6.
4) 3 4 5 6 7 8 9
N “«—0— : o o —o0—t»
37 A B C D !
8.
5) 0 1 2 3 4 5 6
NZH < : : O—+—0— of oi»
24 A B C D o
10.
6) 0 1 2 3 4 5 6
NE™ < o—0——j : : o—t—o0—+>
30 A B C D
7) 5 6 7 8 9 10 11
"/48 <O } O O } } } O }
A B C D
8) 6 7 8 9 10 11 12
NS < Lo o —o— —o—
52 A B C D
9) 9 10 11 12 13 14 15
N “—o0—1 o —o— —o—
116 A B C D
10) 1 2 3 4 5 6 7
N “—o—} —o— o —o—+>
43 A B C D
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Finding Radicals on a Numberline Name. Answer Key
Determine which letter on the numberline best representstheradical. Answers
1 6 7 8 9 11 12
/79 “«+—o0—+—0— of o— : 1. C
A B C D —
2 _D
2) 4 5 6 7 9 10 5
N « —o—+—0— o ! o—H> 3
94 A B C D —_—
4 B
3) 0 1 2 3 4 5 6 c
NS <o : o o ! : o>
33 A B C D R
6 D
4) 3 4 5 6 7 8 9 5
NC “+—o ! : o o ——o0—t»
37 A B C D [
8 A
5) 0 1 2 3 4 5 6 5
Nz « : : o—+—0—t of o+
24 A B C D > =
10, D
6) 0 1 2 3 4 5 6
N « o+—o— ! ! o—+—o—+»
30 A B C D
7) 5 6 7 8 9 10 11
"/48 <O } O O } } } O }
A B C D
8) 6 7 8 9 10 11 12
NS « o o ! o— T —
52 A B C D
9) 9 10 11 12 13 14 15
NI “+—o0—+ o —o— R G —
116 A B C D
10) 1 2 3 4 5 6 7
N « o—1 00— o —o0—+t»
43 A B C D
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